CET 12*" Level (2nd Shift) Answer Key Dated : 11.02.2023

1.

10.

1.

forg gRfSafa A ufas ufazeft ufaferar ghfi?

(A) o aafeh SRt <k T9g AB & 3% A Th I e =iy
(B) Wa cafch forehT <k T8 AB & 39 B Th I9g faar Sy
(C) T afeh et Ih T8 A & 39 O b 9g far sy
(D) Ta =afh foierent <k g 0 & 38 A T 99 e =g [D]

UTaR UTse WSt | FreR g §Y Sifeastae
Y ufafera a=r dar 81

(A) & (B) forftier

(C) wmsfem (D) Zefdm [B]

Choose the correct alternative for translation
of the following technical term: 'subscriber’
(A) st (B) Deren

(C) srfAgrar (D) 3rmerg [C]
U guaqys &1 U Aol 12 St g1 afe g
g 30 S g a sHagyds f udw e fr
(A) 6= @t (B) 13 @t

(C) 2= Ah (D) 5 &ht [B]
fafaf@a 4 @ o9 a1 [fupsra s s grt
thetdT 82

(A) furg arRy (B) S ar=g

(C) uersfea st araxe (D) g 3 ot [A]
Sl | F. g, Q. TAFTRT &l hivehr g &afd
T 9T 1 @-

(A) 2ifer fafer (B)<ifege fafa

(C) xifesare fafdy (D) fArarga fafer [A]
ATHESTId | fha=t e U o o1k &2

(A) 1 (B) 2

(Q)3 (D) 4 [B]

Choose the correct one word substitution
from given options:

A person whois uncivilized.

(A) Barber (B) Barbadian

(C) Barbarian (D)Barbican [c]
foraT SR arer ui=Er SfuRA R AT 82

(A) ehgiet (B) fee=t

(C) feam (D) #ifAex [B]
Y] Ak OT ht UM w+ & fog Fafaf@a d @
fraent a1 A fAeTan s1rar g2

(A) Tifeay @Re Tethe

(B) Gifeaw SreaTsaia-<ila Gethive

(C) A=

(D) srzfaatTer [D]

ST 92 Tl U i1 @ Gaf-ad 781 22

(A) Tep T & Tah 71Tq & ol sifdehad £5.00 ARG

(B) smuRyd gfaemsit o faerr o1 owrd

(C) 40% & a1fdren g SIfd chl ST dTet TMidl o
I

(D) rfRr a1 U daTIat et Sided [A]

12.

13.

14.

15.

16.

17.

18.

&1 Ua uTRe & S ol fiRfAs____ g gl

(A) &ifcrst (B) et

(C) S (D) e [C]
'Hifer st a1 g1 A 8-

(A) A3 SESE BR Ta-ehat 3fear

(B) At SR ik giaae-a gfean

(C) FieT SESRE W ot 3fsar

(D) AMeT SIS BR ChRET 3fear [D]
tan 30° sin 45°sin 60° sin 90° RTHAT & -
(A) 21 (b) 22

() = (D)"z—2

T ° Iufeuq gntefas & urar s @-
(A) Ca (B) Na

(C) Fe (D) Mg [C]
arR U Srrpfadar fhet g qoT & YR wR §HIA §|
IR srrpfaal A & gt 7ot arelt g snpfar @1 TT=

Hifsql
Problem Figures / w7 skt
Answer Figures / Iat smpfeai. TP

Al@| s
(A) @ (B) @!

©) @ (D) @
[B]

fFrafaf@a § v o1l &l Hehe e are 2res 8-

(A) 3 (B) Fer=

(O (D) et [c]
AT & dart 7iig & P aradt & [Awfor e
FRET?

(A) T ITREe
(C) 3t oftwrerd

[c]

(B) Tt ®Uere
(D) 31 wfearh [A]
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

TSTeY™ # TUTfia ugelt et aw e &1 7w 8-

(A) gwm fae (B) veas fae

(C) mgTetest fer (D) &réet et [A]
fFafafEa 4 @ P Fig (wetd)) &1 v aiftfe
A guftfa 82

(A) it (B) urgsft

(C) rmrsht (D) IHeast [B]
STd ISTEYT § Ugetl IR Igufa = ST/ 1941, Tgt
ASYUTA pi A?

(A) TR TR g Rig(B) Txer g3 Rig

(C) T<ER it Rig (D) it Tyurfig [D]

Rafernr sfie T} & 3T & afdor A feda g
(A) MeTast (B) W

(C) Pt (D) HeTr [D]
Which of the following is not a feature of a
notice?

(A) Signature by authority

(B) Time, date and place

(C) Agenda (D) Minutes [D]
e T hl Had TURA sifafieheor s1awT 8-

(A) Cu*, Ag, Au* (B) Cu*2, Ag, Au*

(C) Cu*?, Ag*?, Au*? (D) Cu*?, Ag*?, Au* [A]
TS & fog = ol foham =1 aes wnfga forar s
HehdT 82

(A) 10-20 =7 a=& (B) 35-45 iR as

(C) 45-60 e da (D) = afega aw [B]
7 & o sioft F 3R feRa @ g & 59 8ish ugst
Rg # auwr Sis ae d Rg + 82

SOH#+O# = X Q% #AQ+ETHO +X+ @ # @ +$% =
(A)3 (B) S

Q6 (D)7 [A]

fArifera & @ 9 derauT gRT atR« o= fadaes &
Uk Ufel ISAFHT hit i, §HA, GBifchd eheel &2

(a) st (b) iehersT 1 HeTdRT

(c) eiterguT ot sremer . (d) SHErT Sl HAY [c]
UH U Ul H 3¢ a1 U9 gidr 8-

(a) 3meT &Y aRRE fe@™ & forg

(b) w7 urd &heA & foig

(c) fah & & &1 ot St & foig

(d) Trett, Afg=t g femt at sitewt & forg [A]
foheh & SrgER, AR TG sk F e i
IR .......... UETg ZRT Ueed gidl 8-

(A) Ta gt (B) Tshr

(C) f& uefta (D) ufcrerts [A]
A= 7 @ 9 JoeuE avg AFafQeR T
uge! Afgen sremer of1?
(A) hT=IT AR

(C) ferar AR,
$2R gdferar g1
(A) God is omnipresence. (B) God is omnipotent.
(C) God is omnibenevolence.

(D) God is omnicompetent. [B]

(B) STa=ft uesaeh
(b)) @ ofigt  [A]

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

U 9t o1 3ha T T 530 &1 afd g1f ufasra 24% gt

at g1fx &1 a9 (Tt F) = @2
(A) 114 (B) 112.2
(C)114.2 (D) 127.2 [D]

JoTEYE # 2011 # WRA hY fohai ufdera s=der
oft?

(A) 5.55% (B) 5.66%
(C) 6.55% (D) 10.41% [B]
WRA # UG Shoger T gai oT-

(A) qmTSIe farsm 92, SIPRT |
(B) 3fveam S&ieyge oifth wiefeay, fiweft &
(C) Wt Tifeydra TUM, shiddrdr

(D) WR<a fagm d¥™, sz o [c]
V913099 + /700569 = = -

(A) 946 (B) 956

(C) 966 (D) 976 [B]
'Qehichl' 2Te& W ShIFHT GHTH g2

(A) g5 9 (B) f& oo

(C) sigsitfe aam (D) et g [B]
fafa= uepR & A sifaferard 8-

(i) TramafQe Saisw (i) SraEes

(iii) freuma= (iv) fZ- e

fafafaa sifafrard forg goft & siafa o<t &2
(a) 3TOA + AT — AR IATAATSS + gl SIS

(b) wifgw aeiiRizs + RAear sde - Hifeaw AEee
+ Q=R =ik

(A)(a) = (iii), (b) - (iv) (B) (a) - (ii), (b) = (iv)

(C) (a) = (iii), (b) - (i)~ (D) (a) - (iv), (b) = (iii) [D]

(A) TEr@ & (B) AmTreive H

(D) sreurTaret uesr | (C) Rafeepm & [A]

"gfRarer & TREIUT o foIq ISTEYU 5T § H1F A1

SMIRYY T fharmmg?

(A) STIHA=< IIRVY . (B) ATETG FIHIRVY

(C) TaeT TR (D) HehexT ugtiedl IRy
[c]

A 9 ZRT 34U Mgt T giar g :

(A) 1 & sarer (B) 1 & s_TeR

(C)1 @ m (D)1 & saETard g [C]

A= 7 @ STaqR &1 RERTTE gwSanT RiFEr 8?

(A) St @TdY (B) &ar e

(C) Rrstepem (D) s Wit [D]
gfe gftewor (1+¢2) x2 + 2tcx +(c?—a?) =0 &
T gaH ¢ al FafafR@a A d s araa g?

az=cz(]+,2) 12=&2(1+cz)
© 02:a2(1+t2) () 12:02(1+a2) (]
U Ghiger Hifawr & oRET N "= gd

(A) (B)

SIpfA___ hgdre gl
(A) FgruEy (B) STTgetiyEy
(C) oREIEY (D) TaurEy [c]
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44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

A= 9 @ oia-H deur IeeyE & st Qe

&t 71fa 7 areft ofid deur 2

(A) ToaE e e (B) et

(C) Trordiant (D) r&TE [B]
FATIATAT AT hUT TUg #H fha-t A=ft smoraeit &
AT T IeeiT gaHT 872

(A) 15 (B) 16

()17 (D) 18 [D]

Change the following sentence into indirect
speech: "We wish we didn't have to take
exams’, said the children.

(A) The children said they wish they didn't have
to take exams.

(B) The children said they wished they do not
have to take exams.

(C) The children said they wish they do not had
to take exams.

(D) The children said that they wished they
didn't have to take exams. [D]
ufg snfeareh A« 'AuigR' Joru= & forg /9 &
SrifSid giar g2

(A) @it (B) sriwarsT

(C) yarwTe (D) §TRE [D]
fA=afafaa 7 @ 'aeea’ e & w5 91 ueaa 2?
(A)= (B) @I=m

(Qa (D) ar [c]
I91-TT QA "I1<1" <l UAia el g?

(A) fexog (B) T

(C) == (D) 3= [A]

Tl ureur <A & g uF 4 =&l d
e glar &2

A) gof area (B) g7

(C) srus™m (D) dfist [D]
Choose the correct passive form of'the given
sentence :

Close the door]

(A) Let the door be closed.

(B) You should close the door.

(C) Let the door be close.

(D) Let us close the door. [A]
fAr=ifeha # | &9 u31 Yuor REER, 2022 & Aifgs
Qe fatem o & F qeeepd Tl gU 87

(A) ufasrR (B) @t wferer—=<

(C) afrs HFurdr (D) Fexo TsiRor - [D]

10 .+, siard it Boar g R g f Bsaeit &
wer fagait o fofguy 8-

(A) 15 9.7}, Bsar &1 gep g

(B) 10 &.#. Brsam &1 ges g

(C) 5 @.#t. Brsar o1 ge Tt g

(D) g w1 & [D]
UTeR UTse # STIEATS 3o <hT UGNT 3 | 31147 &1
(A) ot @iz fUead  (B) dhad wIss dae

(C) wirgs & fgad g e gt

(D) Fhaet sieh T3S [B]

55.

56.

57.

58.

59.

60.

61.

62.

63.

64,

65.

66.

67.

68.

69.

UUYH 10 UTSY T&ATed] hY ArfedanT

(A) 11 (B) 14

(C)13 (D) 12 [D]
"M’ 2AE T Tl T farede ghm?

(A) 2Tt + 37ch (B) =1t + 31Teh

(C) it + 31eh (D) 2ft + 3R [c]
fA=afaf@a 7 @ &9 9 diendaar i arar done oft?
(A) afcemTstt (B) Trestt

(C) Tmarstt (D) mrTrSft [c]
ASTEY H i A1 TUH St g | Haifda g2

(A) STterqr (B) AR

(C) spiemaa (D) giR [c]
A= g @ 9 @ wgar e aoreu= @ sifdaniar
Iaarfed &Y st &2

(A) dic (B) fermse

(C) fogfarra (D) g=eraTse [B]

st e St gt @l e, & «ra frar
T UT?

(A) 2011 (B) 2013

(C) 2015 (D) 2016 [B]
TR ® hi9T GHIT 82

(A) sgshtfe (B) f&1

(C) wreRT (D) degey [A]
Aafafaa afig gari 7 9 saaEnas e 7 ffa
&

(A) T (B)sigaTe

(C) haemea (D) se [B]
fha ool it RAWIRT IR ATHve g Td TR
ARaTST o1 faera TsTeu= 7 fhar?

(A) oft. Ot. &9 st (B) TR QS ST

(C) TR §G<h SN (D) Seei TS deed ST [B]
IAET ThISE T MgS wiweRl, 2023 it Astarit fha
AT ZIRT ehl 713 A2

(A) sTgR ( ) STeqR
(C) et (D) SeaR [c]

SiRgTagt aur Himefiqzy Mg & sa fafduar =g

TY........ 7g?

(A) T8I TesT (B) sfeen

(C) a1 (D) affemTg [D]
afk J3=1.7324 (\/14 —%«/4_8—«/%] IR

&?

(A) 5.196 (B) 3.464

(C)1.732 (D) 0.866 [c]
wfterr MW &l AU R Remar 82

§A;w

(C) Tr=u faumg e &1 aksaq ge

(D) I=a ATeTd <hT H&A AT [B]
“ddtend g

(A) sTeg ufd =

(B) (ufd 3enr$ 3ien) fefSicy ufa gfe

(C) ST et 39

(D) (ufr g9 em@) srsurd ufd §9 [A]
Ut A SEUTRfY SHalRAT T FROT 1

(A) Tifsgm SigepEive (B) &IfR1OH S18ehEe

(C) &fArH iRTzS (D) Tifsaw gethe [B]
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70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

af} fA=fafEa el wt wfrrgar aafeaa e
SITQ at hi9-9T 21eg, 1A & smg?

Drank,Drake, Draper, Drastic, Drama

(A) Drank (B) Draper
(C) Drastic (D) Drama [C]
AafafEd s R = dfeg :

“When” &7 31 g ‘x’, ‘you’ @r 31f & ‘+’, ‘come’

a1 3 g ‘- aur ‘will’ 1 eref @ '+, at '8 when 12
will 16 you 2 come 18" @' #19 W Q-

(A) 82 (B) 86

(C)o4 (D) 98 [B]
Bk gRa& & mfea gdor & fAw, ahar fBsar (R) iR
Hiche g3 (f) & i deu g:

(A)R=2f (B)R=3f

(C)R=1/2 (D)R=F [A]

)

) ufcatft adiemstt 6 JaR & ford

D) R M & ford [c]

Complete the following:sentence by choosing
the correct tense form ' from the given
options:

He gave the picture to me because he....... me.

(A) trusted (B) trusting

(C) has trust (D) will trusted [A]
Which one of the following is'an antonym of
'"Admission’?

(A) Concession (B) Allowance

(C) Denial (D) Caution [c]
'Sah &ré) sThl B9’ IEifohd Uel & Ta-™ gl
(A) FRsaare (B) frsaraes

(C) gewarae (D) Hsieraraen [D]
mfadt afger & g Siaeaifa TR g

(A) 10 71,/ STtefier (B)-11 7m./S¥fieftex

(C) 12 1. /SHieieR (D) 13 . [Sfiefter [c]
"held AT HelaR &l el A g

(A) aiar 3 arem areft . (B) shier WS |

(C) 31form e (D) ¥ g ST [D]
ofic & Ot chde @t Tfee FA & A A dt e
& ugh hi It 82

(A) F1 (B) F2

(C)F3 (D) F4 [B]
gffA:B=2:3,B:C=4:5C:D=6:7dalA:B:
C:Dg-

(A)16:22:30:35 (B)16:24:30:35
(C)16:24:15:35 (D)16:22:15:35 [B]
FeOT 9} T SgH Ffaf@a =t 7 | fhad Rae
&

(A) T (B) @yt

(C) e (D) HETETAR [D]
& =1, =" e 1 Smaad 27 cm 3 @, & el
Thelehl @t fMAATERR T 39 a9 STt 81 399 994

CIGAEIR G| e FT 8?
(A) 90 =f It (B) 81 af @Y
(C) 45 =rf af (D) 60 =rf aft [A]

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

fafSiee afdhe fra @ aaar @2
(A) difSie e (B) srite
(C) d=rg (D) 9tfi-cheaex [A]

Al dicH SlRHe 91 & AT @9 |1 Fe1 ughn
fora <Tran 82

(A) Sieh el (B) A<t hieH

(C) ie™ (D) ¥ @ie™

m@ﬁﬁ%ﬁmaxtﬁ%uﬁﬂam% aﬁmﬁ%
A) iR gy B) fere 3f® qlw

C)wggqf@a’rsr D)qfé?rsrnz?frsr [A]

fFrafafaa & @ swfaar dua= agee T8 82

(A) SepiF (B) AR

(C) Frad= (D) frores [c]

gt &, (sifafe f@erd) e g & 4 a=w
& givon K, fFra @ d St g 6?

(A) S (B) fohdhe
(C) qarifee (D) gicht [c]
S A& hT 994 HifSg
(A) Prgzrt (B) T
(C) uSrt (D )Wﬁ'?«ﬂ [B]
afd secO+tan 6 = x, @, X _i%
x +
(A) seco (B) tan®
(C) coso (D) sin@ [D]
*Beuit M TR fthed 21
(A) gemaTeft (B)w
(C) Tt (D) smrett [B]
Z <1 9T ¢l
(A) 200 (B) 40°
(C) 64° (D) 56° [B]

forg gygar A A Ua afar a9 7 g1 1w
gl gidr 912

(A) areftsEm (B) srrgs

(C) TotaR (D) sR1& [C]
ASTEYTE & goie 2022-23 § 0% &5 # ASTEAT ST
& geeieT afaten & fag fhaen aReoa smmeifea
forarmar g2

(A) 300 IS (B) €500 RIS

(C) T600 &t (D) T800 &t [c]
& 7 T=aT Soft R SrTeT UT 8-
J/0.1,0.1,0.1,/0.1,0.01,2

A) 0.1/0.1 B) 0.14/0.01

C) 0.1/0.01 (D) Yo.01 [D]
ﬁm@@aﬁﬂmﬁqﬁraﬁ 'F depfa’ ot et
AT 82

(A) 3 Gepfa (B) gz Tepfer

C) ¥e Tepld (D) &R1S FEpfa [A]
"IfRAR TR Red' YRa & fra Tsa d [T g2

(A) =t (B) TR

(C) affemTg (D) shAfeen [A]
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97.

98.

929.

100.

101.

102.

103.

104.

105.

106.

107.

108.

100.

110.

111.

Choose the appropriate determiner to
complete the sentence.

There were ........... people on the beach, so we
weren't completely alone.

(A) a few (B) fewer

(C) fewest (D) very little [A]

gof stiafies wRrad= e giar &2

(A) 39 ehtoT 900 ¥ 31fdeh §

(B) STTUdH ehiuT STUa hivT & T 8

(C) 3ruer ahior 900 & 31k 3

(D) 3TUa ShioT 90° & SRTER & [c]

ASTEUT & B I fa=T AT & Sremetr i &2

(A) s RRig (B) SR Ao

(C) 31=Mtes TSI (D) dft St sheetr [A]

Sterarg uRad= vgefs gaoie (Hifidtens) 2023 #
HRAGIHH ..o T WR E?

(A) &8 (B) grad

(C) ammsd (D) =iid [c]

&t gR1 ‘aRer’ sy ............. U3 g1 STt 87

(D) RR [D]
2022’ & g¥IfA fohar man2

(A) 1 (B)2

(03 (D) 4 [B]
TRV 1 g5, foheeh Aed TS arn?

(A) FigHE @eroit-1 3R GFT

(B) Agqg @erett-11 iR Afe 2

(C) HeHe Werstl-1 3R &% &1 IaH

(D) 7gHE @etstl-11 3R HERTOT Fif i [D]
‘Authentication’ 21eg el fg=al SHATS S 2A<E &2
(A) vy (B) vmaTfoIeR

(C) @t (D) wTOfteRzor [D]
gree;, gTRfeAfa<h) o=t &l Feuaw Rar 22

(A) ater (B) s1=. fArsm

(C) Fefid=e (D) 6. sft. &=t [D]
AG-Saf1-3 Beg”. . sixdeh i AT2

(A) g gt (B) fiRer sfa@i

(C) =fa 37 aRoT (D) SteRTST [A]
arar 3 fReginT Rafaerad hl Turgs= ... 7
& srafi?

(A) SR (B) Steter

(C) SR (D) @ler [A]
Rreafafaa goft & qoa @ 9 fifsg?

6, 10, 18, 34, 66, ?

(A) 98 (B) 128

(C) 130 (D) 132 [C]
adf 1957 # sFaRer & den T ugen wFa fAfda
IR

(A) Tfe-1 (B) ARM-1

(C) srrforg-1 (D) 218, 3R, Tg-1 [A]

Choose the correct synonym of the following
word:

(A) reduce (B) brief

(C) long (D) certain [B]
g ¢ el d @ I dEar aig o1 9g= RSy st
Heear 93g (5, 25, 7) & 99 §1?

(A) (6,36, 12) (B) (8,64, 11)

(C) (9, 81,10) (D) (7, 49, 13) [D]

112.

113.

114.

115.

116.

117.

118.

110.

120.

121.

122.

123.

124.

fasa &1 wa@ a1 9w Fu ‘A’ R Al d
Jafeda g?

(A) sTETgx (B) &y

(C) 3w (D) mMerey [A]
‘q' %?

(A) afa (B) @fast

(C) nfifa} &Y Tt mf gar (D) I [c]
‘ORomefer ferar’ @2

(A) 8T (B) &1

(C) Tt (D) e [D]

e & fog g g & ‘o g’ & AW |
IASTEYTE & hIA [ hHY 3R Tha forar mar &2

(A) SrergR (B) ATk
(C)T'EWR (D) dftepr R [D]
2.34 w1EE 82
(A) ﬁ (B) ﬁ
90 99
211 211
(@] E (D) E [C]

Choose the correct preposition to fill in the
blank space.

I must apologise ... .. Being late, my
car broke down:

(A) with (B) upon

(C) to (D) for [D]
WRA # USR} &5 3T 8?

(A) 43% (B) 30%

(C) 56% (D) 27% [D]

A ABC ~ A POR afe 37 5thet shsn:
25 9+f12'34I% 362 9t gl afs AB = 2,5 |t g a= PQ

2-
(A) 3.0 gt (B) 3.5 9t
(C) 3.6 4t (D) 2 ot [A]
Uch dSch dhl qddI= g SIU-it #1Gr Y 3y A Tk
fagrs 21 afy wmar &t adaE emg X af g, 15 af
T2 sTSch chl 3T gHit?
) A 1N (B) X15

3 3
(C) x+5 (D) 2—15 [B]
forerTe At ... & g uflg 82
(A) HfeR ahett (B) fRrsfeneT
(C) =msfet ammé (D) 7fF e [B]

......... AT T 36 & A &g gfa w@iseee gR®
ASR I Heuvl e & g g dgaa aRaten

8

(A) IR3METOEE-1T  (B) AOR

(C) Shde-11 (D) Sfde-12 [B]
gl sitenfies & i Tyruar RafafEa & 9 g
o g A st

(A) 3rSTER (B) SR

(C) srefer (D) SitergR [A]
312Meh cfieis herd) AU hgl €A 82

(A) SitergR (B) iar

(C) SR (D) SfefeR [D]
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125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

uRd # fraRal d 9«9@ oA ¢@T S arer givor

Heieft R 8?2

(A) Trdt (B) g<mm

(C) =t (D) TerdTegdn [D]
Toautd & fatiy sifvmwor @1 waae s@Rd
dfdurs & e argede d forar mar ar?

(A) rg=as 174 (B) 3rg=ae 175

(C) arged< 176 (D) 3rg=< 166 [c]

araferdt oo 7 Rafaf@a § @ @ 78 forar sman?
(A) Fgef

(B) Tate - HgleT [ ATIeR

(C) ust AT aTet IMfABRY & &R Bl AT — TdT

(D) @fEser - wadig [c]
=it & Fra F 25 ufaera $i gfG g et §1 @ua &
fohat ufaera &t @t it sig arfes @=f & S gfg 7
ar

(A) 20% (B) 25%

() 165% (D) 3%% [B]

hI=HT HaT ol & 9 T8l 872

(A) @fas (B) g

(C) wrgor (D) St [c]

A 7 @ 9 91 Fy= darEdt Te dEreit & ar A

g 781 8?

(A) TduYH ISRYE F UGGl 5] SqIRAT hl YA
[

(B) 734 dfaem G 1992 & @R gai|

(C) g g # gt 29 fava 81

(D) umH e | gATd el oh felg =geaH 94 18 v 81

gauzﬁﬁmaﬂ‘anﬁaﬁmnmm,w ............

?

(A) ga1 ¥ STHiF R AR &+ arell s

(B) 59T @ gar & AR e arett Agsa

(C) geftepiex

(D) st fawm c]

w4 8000 ®Uud Uk dis H Ashqfg st gg fAad

Il g &u g MG Har g1 a8 18"arE

udrd 10648 FUE I ehedl @ dl ufa. ad sarsr &

w®e?

(A) 15%

(C) 20%

g f3fStes dar gt 2022 @1 wvay 82
) ¢ 3-f wnfua e @
)
)

(B) 17.5%
(D) 25% [c]

(A
(B) F:3[en sifrerrs spifr &

(C) mfgemratt & forg o<k AlaTsad BiF @

(D) TSR Y &g [k PrgeR et & [c]
1946 ¥ ISRYTE ¥ WRA fr G Fabh gar &
fhaa ge=g &2

(A) 11 (B) 10

(09 (D)7 [*]
TSTEYT | UgeT 19 e ureR Wi gl €3 8?
(A) sfar (B) I# e

(C) wpter (D) STt [A]

USRY H G&H, g 9 747 IJushA ifd, 2022 &
IFER fhaw 7@ sieife & Tufa &= @
arau forar T u1?
(A) 147
(C) 144

(B) 150
(D) 138 [*]

137.

138.

139.

140.

141.

142.

............. & WIS R ufagRt 3 fiqare & Isg )
3ferR ure fram?

(A) =g (B) =mereTait

(C) feeitdt (D) safeat [B]
Read the following short story and answer
the question that follows :

There were once two brothers who lived on
the edge of a forest. The elder brother was
very mean to his younger and ate up all the
food and tool all his good clothes. One day,
the elder brother went into the forest to find
some firewood to sell in the market. As he
went around chopping the branches of a tree
after tree, he came upon a magical tree. The
tree said to him Oh kind sir please do not cut
mt branches. If you spare me, I will give you
my golden apples. The elder brother agreed
but was disappointed with the brother of
apples the tree give him. Greed overcame
him and he threatened to cut the entire
trunk if the tree didn't give him more apples.
The magical tree instead showered upon the
elder brother hundredssupon hundreds of
tiny needles. The elder brother lay on the
ground crying pain as the sun began to down
the horizon.

The younger brother grew worried and went
in search of his elder brother. He found him
withshundreds and remover each needle with
painstaking love. After he finished the elder
brother apologized for treating him badly
and promises to be better. The tree saw the
change'in the elder brother’s heart and gave
them all 'the golden apples they could ever
need.

The above story.teaches you to be:

(A) great and ambitious

(B) disciplined

(C) covetous

(D) kind and gracious [D]
Fefai@a 4 @ fre agr A g arifdhr sam= fea
&?

(A) STIGR (B) Sitergr

(C) JeaR (D) gamuTe [A]
fAafafaa 7 @ slaen st e it J At 82
(A) Tfics e

(B) @1 g

(C) Tt

(D) &t Fa [c]
sfosar e sifr wRee RUiE 2019 & garR af
2017 R geT A ........... S (Fes fea weer =1 )
# g1 & | waifdes ufaa gfE o<f g 82

(A) Ficen (B) S1r=gr mreer

(C) 3rgd (D) &R [A]
A @ @ @19 91 Uen 31U SivedaR J81 82

(A) TS HieRNY (B) BRR®BIFT

(C)adow (D) fors siffthg [A]
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143.

144.

145.

146.

izt ulRue & geof A Aafafaa syl ot 2a:
1. diRfea aRug it TumgaT Srgede 263 & siafa

[
?ﬂﬁﬁﬂiﬁtﬂﬂﬁmmal
3. FHH TG ISR Gfafa dir srgeiar od gd)
4. ug Uah T GaurfAes fRerma g1

el ge gfha-
(A)1,2,3,4 (B)1,2
(C)3,4 (D)1,4 [B]
grEidt dar d@u fit TuruAT fham fi?
(A) AforergetTer aaf (B) Tz et
(C) yu & (D) sieftetret e [B]
fafaf@a 9 9 fras Rfrcar & a9 7 Aida R
ZOZZGﬂT-lT?

A) TSH UTeTsfea B) Sfde Stferaw
( )%ar?r D) et af srgf [c]
Eﬁﬁaﬁﬂm@maﬁm%‘)
(A )ﬁv@aq:ré’r (B) 3%
(C) sitciehs (D) dstas [c]

147.

148.

149.

150.

trer-sft aieT &1 IGa Aafafaa d 9 forg ger &1

=194 auT AR w82

(A) SUgdret (B) Tget

(C) faxafaerea (D) STy [B]

2021-22 ¥ JoRYE & fhaa O sreper & wafaa
?

(A)9 (B) 10

(C) 11 (D) 12 [D]

A 49 Rl FYF TSRUT H scifeh BUTS IR &

gt T8 87

(A) T8 TSI T Teh U e =0 1

(B) 38 gt hue W fohar S 81

(C) za<ht uferar i g 12 &t § g8 oft

(D) 35H UTcpfcren T AT IUANT =g} [ohaT ST 81 [D]

Teh 3TeHl uuH 4 A1g 7 sfigdaw 1800 &ud ufaarg

@ AT g1 98 3N 8 Hig # 3fi9ad 2000 Fud

ufaurg @< &=ar g1 ad & or=a & ag 5600 Tud =T

AAar g, at I AT 82

(A) 2200 Tqd (B) 2400 &0

(C) 2600 ®Ud (D) 2800 [B]
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